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- . data,qife::on. Use of Graph Paper is permitted. Assume suitable
a (i)- What s “I ; T

reaction depends? ate of reaction”? What are the factors on which the rate of

ii). Di : :
(i) ifferentiate between: Molecularity and Order of a reaction

[5+2.5=7.5]

[b] Q). :

Tli'e(g ) ’M?ke 4 comparison between ‘Transition. State Theory’ and ‘Collision

out, hry otiemp eratu.re dependency of reaction rate. Using Arrhenius Law, find
ow ¥nuc_h faster is the pyrolysis of ethane at 650°C then at 500°C, if the value

of the activation energy is 75000 cal. [7.5]

2[a]. (i).Show that the decomposition of N,Os at 67°C is a 1% order reaction using
.the Integral method of analysis. Calculate the value of rate constant. The given data
is :
| Time (t) in min 0 1 2 3[4
Concentration of|0.16 |0.113{0.008 [0.056 |0.040
N>Os, in moles/L

(ii) Using Differential method of rate analysis, find out the order of the reaction
for the data given below. Also find out the value of ‘rate constant’.

Data:
Time (t) 0.5 1 1.5 (2 2.5 3 3.5
in min
Concentration, (Ca )|0.0260.021[0.018[0.0150.01310.0114 | 0.01
in moles/L
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Time (1) 1 5 6 7 8
in min ' ‘ A - £
(Tmlccnlrniion, 0.009 [0.007210.0059 | 0.005 | 0.0041
(Ca) in moles/I, &

e .
(2.5+5)= [7.5]
Integral method@
ble second order _

[b]. Differentiate between Differential method of rate analysis vs
of rate analysis. Derive the integral rate equation for an irreversi

reaction of type : 2A-----=> Product e
(2.5+5)=[7 Sle
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